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#include<cstdio>
#include<cstring>
#include<math.h>
#include<stdlib.h>
#include<algorithm>
#include<ctime>
using namespace std;

const int maxn=1000;
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bool hamming(int a,int b,int d)
{
int c=a"b;
int cnt=0;
for(int i=0;i<=30;i++)
{
if ((1<<1i) & )
{
cnt++;

if (cnt>=d) return true;

}

return false;

void printArr(int *A,int n)

{
for(int i=0;i<n;i++)
{
printf("%d",A[i]);
if ((i+1)%10==0 || (i==n-1)) printf("\n");
else printf (" ");
}
}

bool atlLesat(int *A,int cur,int i,int d)
{
for(int j=0;j<cur;j++)
if ('hamming (A[j],1i,d))
return false;

return true;

void dfs(int *A,int cur,int n,int d)

{
if (cur==n)
{
printArr(A,n);
return;



int st=(cur==07 0: Alcur-1]+1);

for(int i=st;;i++)

{
if (atLesat(A,cur,i,d))
{
Alcur]=i;
dfs(A,cur+l,n,d);
return;
}
}
}
void deal()
{
int n,b,d;
scanf ("%d%d%d",&n,&b,&d) ;
int A[n];
dfs(4,0,n,d);
}

int main()
{
freopen("hamming.in","r", stdin);
freopen("hamming.out","w",stdout) ;
deal();
//printf("%.2Lf\n", (double)clock()/CLOCKS_PER_SEC);

return O;

J/*
*/
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